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DC Analysis of Transistor Circuit
Calculate IB, IC, IE

Assume:  β = 200; VBE = 0.7 V

2

Common-emitter circuit with pnp transistor!
Find IB, IC, IE, and RC so that VCE=0.5VCC

Assume:  β = 100; VBE = 0.6 V



2

3

Problem 1: Determine the small signal gain, input resistance and output resistance of 
the following circuit. Assume Rs = 1 kΩ, R1 = 93.6 kΩ, R2 = 6.4 kΩ, RC = 6 kΩ, β = 

1000, VA = 100 V
Donald A. Neamen, Electronic Circuit Analysis and Design, McGraw Hill, 2001
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Problem 2: Determine the small signal gain and input resistance for the following 
circuit. Assume Rs = 1 kΩ, R1 = 93.6 kΩ, R2 = 6.4 kΩ, RC = 6 kΩ, RE = 400 Ω, β = 

1000, VA = ∞
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Problem 3: Analyze the following circuit when R1 = 56 kΩ, R2 = 12.2 k Ω, 
RC = 2 k Ω, RE= 0.4 k Ω, VCC = 12 V, β = 100.
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